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OQUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in Two Sections and printed both in HINDI and in ENGLISH

Candidate has to attempt FIVE questions in all

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted choosing at
least ONE from each Section.

The number of marks carried by a qu:stion/part is indicated againsit it.

Answers must be wrilten in the medium authorized in the Admission Certificate which must be stated clearly
on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No marks wifl be given
Jor answers written in a medium other than the authorized one.

Assume suitable data, if considered necessary, and indicate the same clearly
Normal probability distribution table is attached for necessary reference.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question shall
be counted even if attempted parily. Any page or portion of the page left blank in the Question-cum-Answer
Booklet must be clearly struck off.
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Q. 1

Q. 1(a)

@I
SECTION—A
fretras grl @ 99T <

Answer the following questions :

o Pt #of geme @7 st 97 @R A smHe waT (Pe X FagaTa)

et & forg w1 @ @ wiar @ i qel Pl s Ao SedieEE w

A 21 A 94 3 w amm’ gww 500 RF 3 was [@9da’ 100 7 8

ZIEA & ¥ 5ol & oe06 7 625 R # & dwigw a9417 F¢7 & ¢ G ygiad

CuY FEET R 625 R B fax deww e W 3@%d BI7 Uy, BT AU W WX

10 979 T BT HT AN AT FYA F AT A AT IS wEa  GASAT 4T
2 7 g Arde A wW TN SO F, A AP P EWET T A 7

A construction company builds primarily three and four unit apartment buildings {called
triplexes and quadruplexes) for investors. It is believed that the total construction time in

days follows a normal distribution. The mean time to construct a triplex is 500 days and

the standard deviation 1s 100 days. Recently the Pre%sident of the company signed a

coniract to complete a triplex in 625 days. Failure to complete the triplex in 625 days
would result in severe penalty fees of Rs. 10 lakhs for every triplex not completed within

625 days. What is the probability that the company will not have to pay penalty fecs ?

- Approximately how much penalty fee will it have to pay, if the total number of triplexes

to be built is 50 ? 10
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z 00 01 02
0-0 | -0000 | 0040 | -0080 |
0-1 | 0398 | -0438 | -0478
02 | -0793 | -0832 | -0871
0-3 | 1179 | -1217 | -1255
0-4 '-1554 1591 | -1628
05 | -1915 | -1950 | -1985
06 | 2267 | -2291 | -2324 |
0-7 { 2580 | -2611 | -2642
08 | 2881 | 2910 | -2939
0-9 | 3159 | -3186 | -3212
1-0 | -3413 | -3438 | 3461
11| -3643 | -3665 | -3686
1.2 | -3849 | -3869 | -3888
1-3 | 4032 | -4049 | -4066
1-4 | -4192 | 4207 | -4222
1-5 | -4332 | -4345 | 4357
1-6 | -4452 | -4463 | 4474
1-7 | 4554 | -4564 | -4573
1-8 | -4641 | -4649 | -4656
19 | -4713 | 4719 | -4726
20 | 4772 | 4778 | -4783 |
2-1 | 4821 | -4B26 | -4830
2.2 | 4861 | 4864 | -4868
2.3 | 4893 | -4896 | -4898
2-4 | 4918 | -4920 | 4922
2-5 | 4938 | 4940 | -4941
2.6 | 4953 | -4955 | -4956
27 | 4965 | 4966 | -4967
2:8 | 4974 | -4975 | -4976
29 | 4981 | 4982 | -4982
3-0 | -4987 | -4987 | 4987

-03

0120
-0517
0910
-1293
-1664

2019
2357
2673
2967
-3238

-3485
3708
-3907
4082
-4236

-4370
4484
4582
- 4664
-4732

4788
4834
4871
4901
4925

4943
4957
4968
4977
4983

-4988

An entry in the table is the proportion under the entire
curve which is between z = 0 and a positive value of z.

Area for negative values of z are obtained by symmetry.
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04 | .05 .06 07 .08 .09
A - _
0160 | -0199 | 0239 | -0279 -0319_1 0359
0557 | 0596 | -0636 | -0675 [ -0714 | -0753
0948 | -0987 | -1026 ! -1064 | -1103 | -1141
1331 | ‘1368 | -1406 | 1443 | -1480 | -1517
1700 | -1736 |.-1772 | -1808 | -1844 | -1879
2054 | 2088 | 2123 | 2157 | 2190 | -2224
2389 | -2422 | -2454 | 2486 | 2517 | 2549
2703 | 2734 | 2764 | -2794 | 2823 | -2852
2995 | -3023 | 3051 | -3078 | -3106 | -3133
3264 | -3289 | -3315 | -3340 | -3365 | -3389
3508 | -3531 |..3554 | -3577 | -3599 | -3621
.3729 | 3749 | 3770 | -3790 | -3810 | -3830
3925 | 3944 | -3962 | -3980 | -3997 | -4015
4099 | -4115 [ -4131 | -4147 | -4162 | 4177
49251 | -4265 | -4279. -4292 | -4306 |- 4319
4382 | 4394 | 4406 | 4418 | 4429 | -4441
4495 | -4505 | -4515 | -4524 | 4535 | -4545
4591 | 4599 | -4608 | 4616 | 4625 | -4633
4671 | -4678 | 4686 | -4693 | 4699 | 4706
4738 | -4744 | -4750 | -4756 | -4761 | 4767
4793 | 4798 | 4803 | -4808 | -4812 | -4817
.4838 | -4842 | -4846 | .-4850 .| -4854 | -4857
.4875 | 4878 | 4881 | -4884 | -4887 | 4890
4904 | 4906 | 4909 | -4911 | -4913 | -4916
4927 | -4929 | 4931 | 4932 | 4934 | -4936
4945 | -4946 | -4948 | 4949 | -4951 | -4952
.4959 | -4960 | 4961 | 4962 | -4963 | -4964
4969 | -4970 | 4971 | 4972 | -4973 | 4974
4977 | 4978 | -4979 | 4979 | -4980 | 4981
.4984 | -4984 | -4985 | 4985 | -4986 | -4986
4988 | -4989 | -4989 | -4989 | -4990 1-4990
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Q. 1(b) Frefife Seuge whew ¥ =X ‘FReco’ S1, $2, S3 3 S4 @ievcig 2 | B ahec A
w1 giwu gug freafifem wfoh & Rm wr 21 aoedw & 3w & @99 wrq #
7 M A= A § Rawr mm 2, 2% 2 wwEdl yiw €
Consider a production process given below involving. processing in four workstations
S1, 82, S3, S4. The processing time for processing one unit of product 1n each of the
workstations 1s given in table below. You can ignore the move time between the workstations.

As shown in the figure, 2 units of S2 are available.

"""- Bt =

52
Raw Material - / \m 63 . Sar __*Finished'pmduct
2
-~ T i }
EEXEIE] S1 S2 S3 S4
| -} > . e — !
gFAN &1 (AT o) 10 16 12 | 6

(i) TF IS HIA RA ¥ fhaar Teisal w1 edied i
(i) 3T S3 & THEG & FH wew § HAe HT fouwr 9w d@ w1 wREmdE @ # &g

& It ? Ry 7 _‘
. Workstation S1 S2 53 S4
Processing time (in Min.) 10 16 12 6

(1 How many units are produced in an 8 hour d'ay ?

(i1) If the processing time in S3 is reduced to 8 minutes, will there be any reduction 1n
work in process ? Why ? 10

Q. 1(c) UTH w@iia wWwd &g UF Yofifad 9seiq Ut d «H §Q qroarg <@dl g1 U #
meg Wi AT SeCsgE 9w amgiRa 2 ek Riwen @Y e wian genr 8 iR WA
fFac’ 2.5 fiow@ 3a47 21 48 $g < g 300 fom & Fvar 81 8¢ <&@ k9 waleq
Wi faaes & Regar aom & 99 gu W9+ &1 Glaw oan 21 siew a9 F AT Saty
3T 81 ale v disor wde & dmg 300 ®90 8, fieon F O’ &1 HIQY /7 &l diNd
200 €9% 2 T I¢aH ey HIAT wgr enf 7 gl swar 3rafy 3 fRm 2 AR A9t 99%

g, o gAImRw f&g T ogm 7

A Fast Food outlet stocks frozen pizzas in a refrigerated display case. The average daily
demand for the pizzas is normally distributed with a mean of 8 pizzas and a standard
deviation of 2.5 pizzas. The outlet operates for 300 days in a year. A vendor for packaged
food distributor checks the market’s inventory of frozen foods every 10 days. The lead

time to receive the order is 3 days. If the purchase cost of one pizza is Rs. 300, the cost
of placing an order for pizza is Rs. 200, what will be the optimal order quantity ? What
will be the reorder point with a lead time of 3 days and service level of 99% 7? 10
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. Q. 1(d) "I% wy W (FIL.A) ww 3 R 781 81 g angfdaal A favaeiga Fa9< 2
Q9 T hen g 2 fR uwE ysmia W a8 ™ @ 3 fou W uR it Imd <
g3 @ o T usd B 5w wRRa@ ¥ F A #] wuRe FY www § 7 swva
| gam., BA AYRGA YUl fvhd @09 8| JER R HIT ITe UH g d98 b Al
wfrga Bk 80 B0 & 637 X w gl 9 #) aem e g R qR 16 R A

1 g BT 84 X TW W fl AW B A IR F gE@ od 2. .FF O wuw fH
g M TR B IR GERA W F FW T ASAT X § B3 17 TS R TR, AN
@ AR (T T TRY) FABEHL 8, TF WA T IoUeE § FB O, Al Iw
g ¥ 98 gU 81 T AU e 8 3 deg) W AR o FT0 §9F 8 7
Wi Zew WEToW: ARV WE 817 9 # sl @it € A A Ireyfd w1 ang
AT 2-3 e 2| Gowie ol ¥ SOreT @ wgrer 3fRT @nd §) Y JauR * 20 W T
Bd B AIEA. B TET TAH K AWH [FA 9 HF A el ? DA€l §oaAena
qadT F1 3T AG N ? St ARARN F wee g X FIRA. B Frwfag w3
F @ YT AN (I AT T@H @Y FIQ 8) 91 T URE diaT D3R
Y fbgftaq 781 FU gad (A JW @S fAwg B) 7

“JIT is not for India. We have poor supplier rehiability, country is so vast that to get some

parts here in Gurgaon, | have to source it all the way from Thane down south. How can
I achieve JIT in such a context ? Impossible ! And ... then we have a pafhetic logistics
system. Truck owners take you for ransom once your load is with them. I expect an item
in 6 days and get it in 16 days and you suggest JIT to me ... I tried it once and my clients
got their orders at least a month late.” These were some words spoken to you, a JIT (Just
in Time) consultant by a machtne tool manufacturer located in North India. Do you think,
JIT 1s feasible 1n his plant ? The machine tools are generally made to order and order
fulfillment time is around 2-3 weeks. The assembly takes a maximum of 3 days. There
are around 20 major parts for the product. What are the aspects you have to concentrate on
to ensure JIT success ? What structural modifications do you suggest in this case 7 State
your assumptions c¢learly and prepare a proposal indicating the methodology you would

adopt to implement JIT (if you decide in favour) or a proposal why JIT cannot be implemented

(if you decide against it). 10
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Q. 1(e) tﬁﬁwmamﬁﬂfﬂwﬁﬁ%ﬁ,mwmﬁmﬁﬂﬁmmgﬁﬁmm.
4 aratRiE R T W TEE A B R syaeg ahe By | gl 3 R
1 Presfafea groft § & 72 g% 93 & g gue B 2 d 3 Sevae & (ded
Culd BT e, v REed @R e e #1OOREET ik | SoyaE # S
a1 5200 ded wia frie @ @ 8 7

ooy ;o gt F gy

T e (000 HUfiEe) safe |
4001—4200 7
4201—4400 I 21
4401 —4600 32
4601—4800 49

| 4801—5000 58
S001—5200 | 41
5201---5400 27
3401—5600 ' 11

Prior to construction of a dam on a river, the organization entrusted with the task of
construction of the dam performed a series of tests to measure the water flow past the
proposed location of the dam. The results of the tests were used to construct data shown
in. Table below. Compute the mean, standard deviation and the coefficient of variation of
the river flow in litres per minute. What portion of the water flow occurs at less than

5200 litres per minute ?

‘Table : Results of Test

River Flow (000s of liifésm‘pency
4001—4200 | 7 |
| 4201—4400 | 21
4401—4600 32
4601—4800 49
| 4801—5000 58
5001—5200 41 |
- 5201—5400 27
| 5401—5600 11 10
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frafafag yA & 3o Sifso
Answer the following questions :

Q. 2(a) XYZ,UF fRuuer fawmd dean 8 o e Fw-Fe fawa FrasEet 9 fen s @

B T i 2 e w & i R 9@ w231, @S @dear X e FAI

i 1 FHio FE Y Fow 9w e MR @ @ ug U] o, WigTm 9ve} §97
qul geednacg 3 AT FATT AT q9AT| T g & iy aeea s Wy 9
P @ g0 B manAT 9T PR war 8 ol e Aased i 39 9w 9 B
Rl ghrens (w08 w9), F=fafee semoft aftell @ R w0 &, o8 a7 # a@ &C |
w) &g g et feur @t wr ow@t

areeft . fawrg eRasAen @ sRmEbiEr (B 0% W)

TR T
s p_— = e
| wrfe T ' s ¢ 17 45
HAAE Jaq 15 19 24
nc _ 17 14 | 10
T @3 " 7 ~ 24 36
FeSH A aH I 32 15 I 6

ﬁﬁ%ﬁaamﬁﬁﬁmmﬁ?@@ﬁmfﬁmﬁﬁqwﬁuﬁmﬁﬁm:
(i) HEFEHA "9evs

(i) FOIX GHISHAT HIIGUS

(iii) 54T AEUE, FYHAEA! TONF = 0.3 F Y |

XYZ, a real estate development firm, is considering several alternative development

projects. These include building and leasing an office space, purchasing a parcel of land
and constructing an office building to rent, buying and leasing a warehouse, building a

shopping center, and building and selling condominiums. The financial success of these

projects depends on interest rate movements in the next five years. The various development

C-AVZ-O-NHNB 7
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projects and their five year financial return (Rs. Crores), given that the interest rates will

decline, remain stable, or increase are shown in the payoff table below.

Table : Payoffs from Development Projects (Rs. Crores)

lntereéf Rate
S TojRct ! Decline Stable Increase
_B?iice Park S | 17 45
| Office Building | I5 19 24
Warchouse 17 14 10
Shopping Center 7 24 36
Condominiums 32 15 6

Determine the best investment option using the following critena
(i) Maximin criterion.
(1t) Equal likelihood criterion.

(1i1) Hurwitz criterion with a coefficient of optimism = 0.3. 15

it

Q.2(B) UF IR Rue e =l @ A el ydud gEal gomRl (T8 AR UE) Feanny B
& # FEET Fm B %A yEe ¢ U9 U G Jouied k% 8 A I8 B A |
feort 8 3R 78 @9 “franchise’ dg Ui 20 Famca & oy & 8 &g & g dfdw
F GREY 7B 3 W A BT B AR gIaa s @ glagd @) st A #na WS
q Juey B Al (W fF ¥ Ieoea B ¥ ST g 2) fawe amy & A
g1 @7 B IWW yiowA TR GERG AW @ g1 odmwm 1500 I F (G s
# gy I AE ferdl) w2 9edE, R, WodeR, 98 U wedd, Tedns | a6
F IREN] MEa favpr & 9 BT A #1 gu gl 2| O @ 6 98Fl ¥ ddc
Nerd drgA # 9 5 wd sEer uRada sl 1 gmy fred o1 T gEen § ggvh
WA I FT OATH @A 8 MK WA B Bidl B 48 30-70 % JEIT U WH IR DG
B wied 81 O 9oy ux s5a 99 &1 3vn s # wurAiaT s g
I I T A GOl WX B4 AR 9 M 10 B F AT RY Td 21 ;W
qien Bl oAl &gl 39 49 9N &1 (9o Fdl 81 IR A8l & G @ iUed §us H
g Tdl B 3R Tl QT WA § FIh 81 g8 "R el o gued 997 sedl Bt IAT
$al & gHT 9T R § 99 wiug F8 @it veein smew fR¥ o IEer off gEg wy
T2l faerar) g€ weor WU O T gerr AT 8 X sdrdl 989 gWil 8| ga 3@
Gigaqn K51 # e G 7@ § WA F@l 8, JEgT qashdl § T AN I=d B (EEHS
unbranded T Jculgsd] H1 GHIF ATAAEl 919 ) FAfd §50 § HaA adr FHWT TR
g, 5@ ¥ vgly #1 ye w0 (ydgal 31wy ®) T N yquceudr 2
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1 o A B fF GTwa MIS §9 F9 A gEar 8 7 9F0 yEw # MIS F aEw
1 TF T TARY ) YS! AIGA w1 fufEd | sgwneRt & 3a S i geihe:
awic g | wiwa (FEYOTl) ¥ deT $ 3 R (R weh 93 &) golan
TS HIAY |

You are invited as an MIS consultant to a major chain of bakeries in Bangalore. The

békery chain has a major manufacturing centre at the heart of the city and 78 exclusive
franchise outlets in a 20 km radius. The outlets have no baking facility but have heating
as well as refrigeration facilities. All items are supplied from the central store (attached
to the central manufacturing facility) through delivery vans. The frequency depends on
the usage pattern at the outlets. The items, numbering around 1500 (not all in all outlets),
includes pastries, biscuits, light refreshments, frozen cutlets etc. The quality control department
of bakery has an ageing schedule for each item. This could vary from 6 months for
biscuits to a day for Gulab Jamun. The chain participants will destroy the items once the
time 1s elapsed and loss is shared on 30-70 basis between bakery and the outlet. In rare
instances the bakery used to transfer the items between the stores.

The current information system of the company is simple. The outlets call up between
9 and 10 am to give orders. The company, if feasible, will deliver the items on the same
day. If not backlogged and serviced on some future day. This is creating problems tor the
outlets. Many are not abie to get connection with bakery over phone on time. Even those
who placed the orders, could not get in time. This has resulted in overstating the demand
and large amount of wastage. Even though contract forbids the outlets from having some
other products, the managers are discreetly selling other products (mainly unbranded
similar looking products from local producers). As commission from the bakery is large,

the major reason (according to managers) for this unethical practice is lack of availability.

Do you think a structured MIS can be of any help 7 Prepare a proposal for developing
an MIS for the bakery chain. State your assumptions. ldentify the work system(s) and
clearly define the processes. Conduct a detailed analysis to make process (work system)
modifications (if needed). 20
Q. 2(c) M-N®4a & 3T Icqie M I N &l 8| Hedaendga s 8 fam & s:ikg e
graiies "M Fs R 21 A9 femrmr mw 2, &Y Seuw de= wmft 3R Sma @
IUOT FIAT 81 DFecq N a1 JEw-3em whR A B3R C &) B¢ HEA r-Iem &l
FIG B MY & THY UT 91 FT UH IH1s G HH 37 2 | 8¢ F1d & Ghhal §HY SUYH
¥ @ ™ g B AY gL @9ie H 2400 RAT W HI@ B WA @wiQ IFEE EAMHAT
WG, U TR gRY 3 AR W F wicaied g (FIHM $ 91Y) B G906
T 9 ¥ 12000 T B ( Fwdr AT 94X AU 9I<NRE qfeeA aw A e A8 2)

C-AVZ-0O-NHNB 9
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The M-N Plant manufactures two different products M and N. Selling prices and weekly
demands are shown in the following diagram. Each product uses raw materials with costs
as shown. The plant has three different machines A, B and C. Each performs different
tasks and can work on only one unit of material at a time. Process times for each task
are shown in the diagram. Each machine is available 2400 minutes per week. Assume
zero setup and transfer times and constant demand. Operating expenses (including labour)

total a constant of Rs. 12000 per week. Raw materials are not included weekly operating

expenses.
Resources A, B, C (one eacn) Product M Sroduct N
B : Rs 19G/unit
Availability : 2400 min/wk Rs 200/ur it
Operating Expenses 1 +
Rs 12000/wk -
C f C
15 min/unit 15 min/unit
i o L. i R I
/ \ / Ny
A 3 B -]
20 min/unit 15 min/unit 15 minfuntt
| I ff
\\

- &
,'_’,-""'
‘ RM1 ~
M2 \ A3
i Rs 60/unit Rs 40/ur1it/ s 40/unit

(i) 3§ 94 ¥ §iear +sl 8 7

(i) ST IcTRHN HfuFan @9 a1 & ?

(iii) 98 997 B g<g Afasdd fhaTr o9 Fa1 aoar & 7
(1) Where 1s the constraint in this plant ?
(i) What product mix produces the highest profit ?

(1ii) What is the maximum weekly profit this plant can earn ? 1.5

C-AVZ-O-NHNB 10
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. Q. 3(a) #941 A WA Tof, w==i gl dAq IR d@ & @l @ fdu Fag Aeeh
? qUE 2) FTC 7 dos! N U T ® W owid X 91 § HErd g9
B B AR F9A1 & 500 FUS ® FY HQY JHT deal 8 AR @Gead Fl Fd A7
B AW 28 25% WU g9k 81 9t g g F AU S 99 81 Use SuA)
TEH P AR HR JA @led d & I 2| 3@e faw 98 g Mew B2B RvmA
I HT IGAT HIA 8 el ded A B 8 | g@, Al A @yt fafvmm @
ey ] UBE $9441 Hl Y WX IT9 faEm el w "= 9ie I F{d IATF]
goia gaels gudl 81 3o fol awer Aanft vwa @1 a9 fast afed &1 3w wed
81 FUA1 & 3T Wz At ¥ wiAa g c (1) dwu e gaaty st (2) $-amgfd
Wﬂﬁ%:ﬂﬂ%ﬁﬁﬁwwﬁgﬁﬂwﬁﬂﬁﬁﬂﬁumm,mwaﬁ@;
qTAT §9-9q AR faml &1 Fhuraua |
FUAl A 9% w9y 9gelt A AER F | IS, QR FWwA B UF U@
a':l'ﬁaﬂui@mﬁﬁ?'ﬁﬁﬁ'ﬁhﬁﬂﬂﬁm?m%mﬁﬁﬁ
Fge Bt Bt HiFer-@ &1 I FA A TEo HUAI A @H WFHITT @i FOII@m
frar ot @ga e @wa TE! B | 9Nl A A I FT WEe (auction site) F ITYI
fgr 3T QR & Al WiAfdW @7 Fgitu &3 ® #gg & (99 & JRiva Sidigea
U4 A9 W @1 §HY) U Decision Support System $ WU d9F g3 | 98 A9
gre (famsht dme) g 96 gR
(i) Fut Arvergd Nard & o Iwanh =g 9T B2B @ical @ f&g @ & 3@

g 7
(i) W@ DI F fawwm #A & ¥ FTR aFAH g2 GEweiw g 87
(iii) 94T A g9f9 age M -9 ¢ F &Eiw e odt B 7

Company A 1s a leader in creating online auctions for buyers of industrial parts, raw

matertals, commodities, and service around the globe. The company has created auctions
for goods and services for hundreds of industrial product categories. It auctions more than
Rs. 500 crores worth of purchase orders a year and saves buyers an estimated 2 to 25%
of total expenses. The company operates two types of market places. First the company
helps the customers purchase goods and services through its global B2B market place
where reverse auctions usually take place. Second, the company helps companies improve
their asset recovery results by getting timely market prices for surplus assets through the
company’s Asset Exchange, employing a forward auction process, as well as other selling
models. The company’s Onsite Auctions include : (1) asset disposal recovery and
(2) sourcing (e-procurement) functions. These funotigms provide : Assets disposal analysis;

Detailed sales offering; Targeted market outreach; Event coordination and Sales

implementation.
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The company helped several companies make asset recoveries. For example, QR Corporation
needed a channel for end of life, old models and refurbished power protection products.
These were difficult to sell in regular distribution channels. Before using auctions, the
company used special liquidation sales, which were not very successful. The company A
deployed the auction site and helped QR determine the auction strategies (such as starting
bid price and auction running length), which were facilitated by Decision Support System

modeling. The site became an immediate success.
(i) What makes company A different from other online B2B portal for online auctton ?
(i) What are the technological considerations in designing such portals ?

(iii) Why does company A concentrate on asset recovery and on e-procurement ? 18

Q. 3(b) TF Iwe & &9 Wisa, NAe AW & A, B I C, ww fAfrAin GEd & ww Faor #7
: ¥ g By w81 9% Soe A gE ¥ 997 9l 8, heel @ Gaiu g J6 IcUis
%qgu%ﬁzﬂﬁwaﬁﬁwﬁ?mﬁ%mﬁmwm%m@ NI H7ITE A"AA
(f2s3 gwm) N wroh ¥ Ra omr B %F0 ¥ gww wsa # fafwio am
20,000 T ¥ | FIRF, H-Tdige oo & fafmin qu ot 20,000 s gl gie
8| AT g @ @ ang 0.24/8/3% 81 R O 3% W Jeam HIgH & [T
99% ¥a1 WY e FIAT WA | FUAT & [FFeqr @ @a @R
frFeq 1 : Tcgm HISd @ Bael ¥ g9 MY f&Fgeer ®% A AT q
Taweg 2 : dFT "IgA & g, AARe Ica &l %HE:I 7 g0 3T GO $g T Ycdo
qEd f TEDIFG HL |
() vow fper ¥ f yoA faw 9@ @ gRen e MR IS TUG A/ Ao
AT G A0 H dieEmad i |
(i) faaxor &% oX AT F B (FEcasiim) FeA T w0 gfd T g /o
a1 TR @9 &Y 9@dl 8 !
gt ;W wreel @ fou ands woT e

HISA AA Gie® /o, FMAF /T FT WTAF (AR,
afre e |
A 2,000,000 200,000
B 1,000,000 150.000
C 4.000.000 i 200,000
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Three models of a product, namely A, B, C are to be supplied by a manufacturing factory
to a distribution center. Since the product 1s shipped by sea, it takes 2 months transportation
time for the product to reach the distribution center from the factory. The means and
standard deviations of annual demand for the three models are given in Table below. The
manufacturing cost of each model in the factory is Rs. 20,000 per unit. The manufacturing
cost of the generic, non customized product is alsc Rs. 20,000 per unit. The inventory
carrying cost is Rs. 0.24/Re./Year. The company would like to provide a service level of

99% for each of the models at the distribution center. The company 1s weighing two
options :
Option 1 : Make each model in the factory and ship to distribution center.

Option 2 : Build the generic product 1in the factory and customize the models at the

distribution center to make each of the three models.
(i) Calculate the safety stocks to be provided under each option and their corresponding
total annual inventory carrying costs.

(ii) Upto how much amount per year can the company spend in customizing the models

at the djstribution center ?

Table : Annual Demand Data for Three Models

Model Mean Annual Demand, Standard Deviation of Annual
. Ul_lits _Demand, Units
A 2,000,000 200,000
B 1,000,000 j 150,000
C 4,000,000 200,000
18

Q. 3(¢) XYZ Tad & v # awe T A= & FT AW Al I IR gE €W §8 XYZ
AT Al Bl I FATR AR qmm 50 3@ 9fe daa 8, Sefe XYZ S &1 A
70 38 yfe Sa@ 21 wR AV Fien # Iiaed MWIT S00 S dwT gy Al
TG UEEIT g AW 8, TEH A XYZ H @l A, Iad gEn Bl B ORI, Ggic
@ B AT F anad XYZ FS Al §18 D Howa 9 4 &9 2: 1% I9d A
varel fewar 21 9vg, XYZ Tl Al ) wiaied &8 @ % 100 Sad 9 @1 8
(1) @ﬂﬁﬁﬂ%ﬁﬁﬂﬂ%fﬁ,ﬁﬁﬁﬁ?%? e H Goad §ig B fhdHl
NId G9! "@nse 7
(i) Al 3T XYZ #1 & I g A & F9A & iR &g @) 3 ed
F afafda w@m ?
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Q. 4a)

XYZ Grocery sells two types of soft drinks : the brand name A1 Cola and the cheaper
store brand XYZ Cola. The margin of profit on the Al Cola 1s about 50 paisec per bottle,
whereas the XYZ Cola grosses 70 paise per bottle. On the average the store sells 500
bottles of both the Colas a day. Although Al is a better recognized name, customers tend
to buy more of the XYZ brand because it is considerably cheaper. It is estimated that the
XYZ brand outsells the Al brand by a ratio of at least 2 : 1. However XYZ Grocery sells

at least 100 bottles of Al a day.

(i) How many bottles of each brand should the store carry daily to maximize the total
profit ?7

(i) Determine the ratio of the profits per bottle of Al and XYZ Colas that will keep the

solution in (1) unchanged ? 14

¥ @ Frofr wwfy o (Sogem) AiveduR FuR Suia & g1 3qEE i

F forw seime fFar o @1 8) U wivcdu} €YU @ieq A §@ WRASAE! 8 I{@H
ard) gt qeTE TR g fecoer aRA # AN HO @99 g4l 8 | aMe ReeH
yagd Prfd &t o, Reegdgar, ik wfis ® gur & fou o gdeade Rty gd
?| U8 Wecdqul T WX WES4dl B @i Hedol H @Ewdl Yerd L, [Guvd (HecH
ddiiie 1 TEHTA FIG 8U, IR HISIAN A1 (G el 1 FEdA A gy,
g &5 Mo R AU Sed-ore YR B GCEAT IS $HY GHT I8 TR
! FEHY, UE HTH FLal 8|

dE # GEUIT grgare 99 BT S g3 U WA & FH AW g1 &80 498
g fF dms s afygew & frgal ox snaify@ 81 dmE Weew AW afdmdl & gr]a
BT WA F G GhAl 2, GEwl e FRER PAART P qlEw §F R w0
FFae A Ut a7 ¥ Iul anEe gfe & A s e 8 dms 3
FOgR Al Tees & g &3 3 foru, wsTie, TF‘?IT[ GI@ Eq_ﬂh_{“ffﬁ, AT T
TN B A AT walyE afadencd Ud FcgiEvde HEeAsd [l # drs ed
2| dms & ol @ T@g, favggigar T uir S ser & Ry I FIRE geR

gag3t ® e fGeeq MO $ @iy Wig 3@ & NS K Pod TE@AE AHS)

F [GTIo0] F S yegd I U @ g #Y Fdwd B S dids B uhln

F fou A & a3 e &1 g war 8 IemOnd, Medieoig ghEl &1 gHYT

3 |

(i) @ gid ¥ SIUHUHE. Q¥cagy & & &HqrR @] 969 @nad |

(i) a1 & Scow B, ST F HiHsT e & guda | Fear wmed 7

(iil) TS eTH F TF & I UH, AT UF [G90H gecd T HgT T B 7 M0 98 F4
a8 F Duwwm F dumwg. ff g wilky ? e fAuww Reew 7
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. Vanguard’s decision support system software is used by thousands of companies for
enterprise decision analysis. The software makes it possible to apply decision analysis

technigues throughout an organization to problems ranging from simple projects to enterprise-
wide strategic plans. The Vanguard Sys. 1s a comprehensive business solution for improving

the quality, reliabiltty, and speed of management decisions. It does this by helping collaborate
with colleagues on important plans, analyze alternatives using state-of-the-art modeling
and simulation techniques, automate routine decisions using expert system technology,

and 1mprove overall management effectiveness by adding structure to a normally chaotic
process.

Vanguard’s collaboration abilities go well beyond simple communication strategies like
Web conferencing. Rather, Vanguard is based on principles of knowledge capture. The
Vanguard Sys. can combine the knowledge captured by many individuals to create a Collective
Intelligence that is useful for testing business plans and automating routine operations.
Vanguard combines all of the most powerful and essential quantitative methods in management
with features of spreadsheets, artificial intelligence tools, and math applications to produce
an advanced business modeling system. Vanguard improves the speed, reliability, and
quality of routine decisions by éombining its business modeling capabilities with Expert
System technology. Vanguard has the potential to transform business by improving
management team decisions rather than simply analyzing operational data. Vanguard supports
a wide vartety of methods for integrating data and 1t can connect to virtually any business

' system, e.g. Support for Customizable Functions, etc.
' (1) Identity the main capabilities of the DSS software from the narrative.

(1} Why should DSS support data integration as mentioned ?

(iti) The Vanguard Sys. has been dubbed also as a KMS and an Expert System. Why do
you think a DSS should also be a KMS ? An Expert System ? 15

Q. 4b) WL gHERA W wicazn Ben & FRes 3 @ B el & T9TFH F1 FHeA
fFar 81 I wegs A RS swwam @t 3% @9 @99 @ e 8 §ursl
$ YIS B FTIadr @ T@d gY, 9619® 7 gcdd SOFAY P Q9 gHUY TIFRa
(fey ®) Qo fvu 2, wun Promedt =g (b), smemadt §99 (a), IR walfts g
T (m) ! IR FREFAN—]. e @ arg s @ w6 o qwow s (S, 7, 8);
2. Yeamidd FeATUel ® GgEIH FIAT (6, 8, 12); 3. A ®I@ dgIR FAT (3, 4, 5)

E fFfl org Fdewemu & qU 817 @ UBA §[E [FT W1 GHd 8 | FAATd 4. FIE AN
Rt smeal & S5 (11, 17, 25) Fd&ag 1@ Q@ 813 3 @ e B a1 g

£ ods


https://prepp.in/

www.prepp.in

erepp

Your Personal Exams Guide

8| sfwam 5. fres wmagA B AT (8, 10, 12) FEwe 2 F YU @ 9 Fd Fa

21 FHFAT 6 ¥ B fow smms # T (3, 4, 5) FHAT 33T 5F @ ;AR F

W{Sﬁﬂﬁﬂ%lmlﬁﬁﬁﬁﬁéﬁwm(4,8,9]m4$w

a1 X sk Fxar 31 FEwam 8. WS giAd (5, 7, 9) FHHAN 6 H wARa W AT

FXAT & | by 9 e AT 3 9 wiw Fiwe (8, 11, 17) T8 HrdFaA™ 7 HT 8

$ U A WA B AR YE B WA 8| FHGAY 10 FeT & fw w0 U FRm

(4, 4, 4) Fdwerg 7P gyul B W U YR B GFar B | Fed A AHF i@ dAda :

d @ RN A a,m b3 77 a4 8)

(i) 9RaT #1 Azas I@fiad F9R7

(i) "RAwT A yuilde qafy X TEe fRead @ § 7

(i) Prees e &1 gaed 47 s e § F 8d F 1 B FA @ Tiidhar fha)
2 7

The Director of continuing education at SUV University has just approved the planning

of a sales seminar. His administrative assistant has identified various activities and their
relationships to each other. In view of the uncertainty involved in planning the seminar,
the assistant has provided three time estimates (in days) for each activity, namely : pessimistic
time (b), optimistic time (a) and most likely time (m). Three activities—!1. Design brochure
and course announcement (5, 7, 8); 2. Identify prospective teachers (6, 8, 12); 3. Prepare
detailed outline (3, 4, 5) can start without any other activity being completed. Activity
4. Send brochure and student applications (11, 17, 25) can start after activity 1 has been
completed. Activity 5. Send teacher applications (8, 10, 12) depends on the completion
of activity 2. Activity 6. Select teacher for the seminar (3, 4, 5) can start after activities
3 and 5 are complete. Activity 7. Accept students (4, 8, 9) depends on the completion of
Activity 4. Activity 8. Select text (5, 7, 9) depends on completion of Activity 6. Activity 9.

Order and receive texts (8, 11, 17) can start after activities 7 and 8 have been completed.
Activity 10. Prepare room for the class (4, 4, 4) can start after Activity 7 is completed.

(Figures in brackets give the values of a, m, b in days for each respective activity)
(1) Draw the network diagram for the project.
(1) What is the expected duration and standard deviation of the duration of the project ?

(111) The Director wants to conduct the seminar in 47 working days. What 1s the probability

of doing this ? 20
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Q. 4(c) UF MUF-FHw FIAT 3y FAANRU P EWRY I@AA FAFH F1 GTO FX W@l 2
AHAT HIAT Yodd FHIR] ® o ey SAHal A D1 Niecae T4 $1 &9gT THT )
giq fag faq1 &, 9fd 719 1500 790 &t 199 B QT FAr 8 US AU Ty qEHTe
ggrge B A 9fd %= 500 v gid g @ g 9 a3 9w feu MU 9w @)
® [T 150 €48 age @ Y A B T A @ dEEal C gid dEera gfa
qIF 1000 798 X TR fU g gfa wmEr 50 v ageer B0
(i) v w=H=r, 9fa w@ gE A odte dem, wRw dewd SEEE # gAd & iy

& fFg gHrC yafee sOft 7 -
(i) C g7 gd fdacy 1 @eR AT 99 30T Wl !

| /0

(i) B €10 9eT fa%eg 1 WWHR HT Gad IeaT F9 @ 7

A pharmaceuticals company is reviewing its employee healthcare program. Currently the
company pays a fixed fee of Rs. 1500 per month for each employee, regardless of the

number of rupee amount of medical claims filed to healthcare insurer A. Another healthcare

i- provider B has offered to charge the company a fixed fee of Rs. 500 per month per
employee and Rs. 150 per claim filed. A third health insurer C charges Rs. 1000 per
month per employee and Rs. 50 per claim filed.

(1) How will the average number of claims per employee per month affect the decision
to choose the healthcare program 7
(11) When will it be best to go for option provided by C ?
(i1i)) When will it be best to go for option provided by B ? 15
HUs—4
SECTION—B
Q5 fTrfafes vl & 3Iux AR
Answer the following questions :
Q. 5(a) wF # e yeaw P A smTIa S gwg Pl # gon-dar-as R B
; Y& TISC hidl B ¢
;- How does the product-life-cycle theory explain firm’s preferences for and timing of

foreign direct investment (FDI} ? | | 10
Q. 5(b) wESFH-fHR el ¥ B ? W IF aEwrE-yer 9@ S snaRga g

# fafvm & & 90 39T e & ?

What are public-private partnerships (PPPs) ? What have been the experiences to date

with effectiveness of PPPs across different segments of infrastructure sector ? 10
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Q. 5(c) Rsh @ ¥ gy % @ "o 94 & ! Pt @R $ g § #9-999
yad & oy R war B8 O7

What are the principal means of payment in foreign trade ? What are the main documents

used in financing foreign trade ? 10
Q. 5(d) ““miR® A’ UF “weI@n” P "W R{UTA Five | Gy GEE $ 99T H ®19 § Sl
9 fq= A ST =g !

Distinguish between “strategic alliance” and “joint venture”. What factors should be

- considered in choosing an alliance partner ? 10
Q. 5(¢) AWM #! FarETd Ughawi, Wiawiy AW yEuA Td TaEeer gdev ugiace A effd
F Up1 B he YPR TEEE g & 7

How can innovative business practices, environment risk management and environment

audit help contain harmful impacts of environmental damage ? 10

Q. 6 fFrfafaa gt & Sae afiva
Answer the following questions :

Q. 6(a) - Remw 2/MREr=x 3, 1984 & & 1@ Uy ¥ w& 9w » Fram g Red ¥ 99
® o v g9 3 9T wE A o1 fF IR 9 AT gE FU AW aX HY W@
| 378 SOl € W T Rug givan sargs (3vsar) [ A ww vantae giafsa gad
g WY B gl ATt werdE § ogny, @ UgEte yfdthm &1 gnTaRs HurEd
qu%zﬂﬂﬁqﬁaﬁaaﬁmﬁmm‘mﬁ%w%ﬁmﬁwhﬁa%w
¥ F qra weT A9 grEed yag § o fomm 3w el & @mww qusw 3000 st
M geg B MR aul BAIKI AWS AT B M| HIW AT N, 9fdd gY qE HEAmE
Bl U | SUI91 ¥96E B MY, 9UlETo gt 8 7a X US WY, gefl WE W Wl sy vitad
gUI @higa @1 Mty sl Sfr wwew 99 gan ¥ 9w @y ¥a gREn u§ qEd #

- wdl gy smmta Rrg gw |
() T e @ o @ o g aRy ?
(i) & #men # wfagfd = @ A @ =gy ?
(iii) 7otacor ® T @fd B 3@ H FH FE A RAIEF GSAT BT fAET W e
BT |
(iv) 38 UHTT & Ffqaroly geampi ) Igas Niaw yagy wd$y ¥ Fg gere ] o
fr 1 T 2 7
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On a cold wintry night of 2nd/3rd December, 1984 when the residents of Bhopal went to
their beds, they had no inkiing that many of them were doing so for the last time. Not
far from them in the factory of Union Carbide (India) Ltd., a chemical reaction had already
started to that end. At around midnight, this chemical reaction culminated in the leakage
of deadly Methyl Isocyanate (MIC) gas from one of the tanks of the factory. A cloud of
gas started enveloping the city in its lethal folds. The tragedy took an immediate toll of
about 3000 lives and left thousands of citizens physically impaired. Livestock were killed,
injured and affected. Businesses were interrupted. Environment was polluted and ecology
was affected with flora and fauna disturbed. Settlement of compensation still continues
to be problematic. Besides, health care safety and rehabilitation instruments were found

inadequate.

(1) What should be the strategy for environment protection ?

A ML ..N

(i)) What should be the compensation policy in such cases ?
(ii1) Explain the role of NGOs in' the mitigation of pains of such an environmental
damage.

(iv) In what manner can such unthinkable events be incorporated in the enterprise risk

management programmes ? 5+5+5+5=20
Q. 6(b) 17 @& R ads & s gra w8 &gl aomg H Y39 &Y Gahdl 8 7 399 oY
MY gl T B 7
What are various entry modes by which firms can enter foreign markets ? What are their
advantages and disadvantages ? 15
: Q. 6(c) T e FrdAMA (R22AM) A Fur wHAd £ ? PG IEANY, wRAKe dEAR R

JcqTe HEAIG B drg [dugd HIg |
What do you understand by the term “Strategy” ? Distinguish between “Business Strategy”,
¢ “Corporate Strategy” and “Product Strategy”. 15
Q. 7(a) & BT TIER FFAAT A YA Hegwd WEIGMINH A B HGR TR S Jegqdd A
e Sodie (gaiead [T &1 HH I[ﬁﬁ’lﬂﬁ gi g4 ®§ U Icug B FHIC a9 WY T8
PrafRe #7 <@ 21 a9 Reer A3 Ru ge 20 39 ohnd v @ o R ¥ Prm
| # A TF Wgeayqul dmid grfl, dew g T@dl g @ 9@l A8l 31 Ul H P aad
Feaaa [aPey & d A9 fFE Taeeg % 9@ & 9a® on ¢ &b 7
(1) T@ew ¥ goug & Rfawto 8 at fageh weel & g9 fawr &) daed Ry s
(i) &< # IJcurk F FfEior g1 R gy # Ul Wiited dTcll @8ids dEaAl [&quH
$I HHTA |
(i) W9 N 5t ) Aoy wF & wr g A I I FIoaT 50/50 B EYF
I & grq fem Smm gar BouE w1 w1l gode wd g

- JATR. A

Coae TR R B
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A small Asian firm has developed some valuable new medical products using its unique .
biotechnology know how. It is trying to decide how best to serve the European Union. Its
chotces arc given below, The cost of investment in manufacturing facilities will be a

' -major one for the Asian firm, but it is not outside its reach. If these arc the firm’s only

options, which one would you advise it to choose 7 Why 7
(1) Manufactui‘e the product at home and let foreign sales agents handle marketing.

(1) Manufacture the product at home and set up a wholly owned subsidiary in Europe

to handle marketing.

(111) Enter into an alliance with'a large European Pharmaceutical firm. The product would

be manufactured in Europe by the 50/50 joint venture and marketed by the European
firm. 20
Q. 7(b) 19vF IR F YeU T [Ga7l [4a0 & 9 & & Iggg & ¢ A F FR
BTG GHAEE gl B 7 giEee EntuiWﬂFﬁﬁ@@Hﬁﬁfﬁiﬁﬁ%mﬁﬁ
EL T I

What are the main objectives of price and distribution controls of essential commodities

in India ? What problems do “controls” cause ? What steps have been taken to strengthen
and revamp public distribution system ? 20
Q. 7(c) Wﬁ“‘?ﬁ“%ﬁﬁﬁﬂﬁ?ﬁ?ﬁﬁ%lﬁ“ﬁmq&ﬁ
_mffaﬁ%%wwﬁaﬁuﬂmmﬁmaﬁmﬁéﬂ%ﬁﬁmmwﬁ$
T@acy] & Hedied B gAY $d 8 | AWSW YEuF g8 AAd B & AR SR
TF Hecaqu fdEriig Heh B, dfHT w1 8 w SR § SGRE Hearh Fuicl
o gas g Bid & o el g YO fRu MU sAsmadl F1 fedidd S a9 |
() T 98 9T o 2 B 2w ¥ wAfow ety oefas ifem s
gt 8 7 ufe A8, @ ¥ 7
(i) faeeh Maw yea@ & qedisd &3 3, 99 WAE IEm’ F1 Fw yER g
Hm ?

Press reports have constant flow of tales of political instability. Not surprisingly, managers

consistently rank political stability as a major factor in evaluating the business and investment
climate in a given country. Despite the fact that managers overwhelmingly believe that

“political risk™ 1s a major factor to be considered, a few multinational enterpfises (MNEs) :
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have internal assessment mechanism or have sophisticated teams that can evaluate the

usefulness of assessments provided by consultants.

(i) Is it correct to assume that political instability in a country equals political risk ? If
not, why ?

(1) How would you factor in political risk in evaluating foreign investment proposal ?
5+5=10

Q. 8(a) wIF Vg, UF df¥am AT fafdiar FwT 1996 # 3y fFFw RrEt ux ugw g O X
d9 394 ur T fasw ® qEmad fi@e &1 @ ¢ i 5 auf & da, B 40% @
9 g M| S fe9RA, AU 997 ud fSWgAl & y@w 9w gy fagery Aifadi A
giaegateais @ ot ud #7 B a9 # g%ae yeE & At 9w w1 B e
d o O a1 ¥R PR F Iowe FJyEicm, Hed AT TR A IO g3 YgRE B
I EA A8 IR M) SE v A R sma F F9 oand 9w g9 g Fesl A
Wﬁﬁﬁﬁ?mmlﬁ'ﬁqvwﬂﬁﬁﬁ@%@aﬁf:m%%fﬁqﬁ?mmt
JUH 39 TeIH & v @ fAlion guAl & §vg w1 fedn, 6500 § afE s
B A gt W qur A # FH a9 se ¥ wwErala w1 Ran fiw
AT 99 & FEO FT & T G AY g B 3P 741, RBHU B FAHT W
HigH AT, WE & AR uq A GuRwr N9 B @ g qu Iowe & SEd $ o9
7 W & SgWA IeUEA FAT| G, @eaAr 4 Aifes Roq g w6 deen # RaE
cafdqq¥E A w1 Pt a9 oAt gl e FEEE §ua  gTa sgEa Tea i
FATL W, W T F O e 90 Gl ) = A 130 |is v & fg dur S|
7 Ro qUH & 9y Iuele” &, @ ol @ q@dl ggHi 750 9F Yed WV o T A
H 91 & R 20% ey odl ot See wEdl F el gaEe a9 TEH & gy
# gTRRE fFur) FF 3 @ & B o @l TR R BT F@ UEe @ A
75y H IR Wi A 99 Rw I g afF A2 N ww w T oh vEr F g

ST AT T |

(i) I ® Jean L fra wrdfifa &1 srqmewr st & | sy w7 fawa g wft ? s
F g witad AN WREdT w1 qeaie " R g w3 7
(i) Ft7d gy gkl sEAHAE $1 5@ FEiAa) gra o 5 95ar 8 7 F IcureA
w0 AT 39 # R won e P RBa ¥ 2 7 9w wd Ao giyg @ e
d Ty ST
Jean L, a global jeans manufacturing company reached its peak sales in 1996 and then
found its sales suddenly declining and within 5 years, the sales were down by 40%. A
combination of good design, pursuit of new trends and savvy marketing helped competitors
take share from Jean L. Jean L had focussed on jeans for men and company’s products
were found to be outdated, expensive and rather unresponsive to changing market preferences.
Jean L did not move its manufacturing base to low cost producing centres, The company
then responded to the declining share by three steps. First, the company closed most of
its plants in its home base, laid off over 6500 employees and moved manufacturing to low
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cost countries. Second, it attempted to stay ahead in fashion trends rather than follow
them, paying much more attention to women, with a seriés of new designs such as
“superlow” line of jeans meant to be feminine, mass marketihg the jeans within three
months of testing. Third, the company announced its original Spin Programme to supply

custom made jeans for individual customers, using web based technology and computer
controlled production equipment to implement mass customization. Today, a full stocked

Jean L store carnes 130 pairs of ready to wear Jeans and with orlglnal Spin Programme,
the choices available can leap upto 750. Jean L charged premlm‘n of 20% for this service
which helped redefine its relationship with the customers, by becoming customer’s personal
‘Jean Adviser’. The company installed a device to scan the entire body of the customer
to generate custom patterns that are instantly transmitted to the production plant to manufacture

jeans, shirts or any type of clothing.
(1) What strategy did Jean L pursue originally ? Why did the strategy fail ? How do you
evaluate the strategic change implemented by the company ?

(il) What are the generic competitive strategies that companies can adopt 7 Is it in the
interest of a nation to allow shifting of production to low cost countries ? Examine

in the context of income and employment generation. 10+10=20
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What is “Intellectual Property” ? What are the international mechanisms that help harmonize
intellectual property protection across different nations ? What are the methods used for

valuation of intellectual property ? 10
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(1) What is the role of government as :
(1.1) Reguliator
(1.2) Promoter

{1.3) Entreprenecur ?

(i) What is “Whistle blowing” ? What steps have been taken to protect Whistle blowers
in India ? 10+10=20
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